CH-03

June — Examination 2023

B.Sc. (Part I) Examination
CHEMISTRY
(Physical Chemistry)
Paper : CH-03

Time : 3 Hours | [ Maximum Marks : 35

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 1 mark.
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(iii)

(iv)
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Differentiate the following function with

respect to x :

y =xsin x

frafafea wem &1 x & 9Hel STaded &ifeg
y =xsin x

Define ‘probability’ with suitable example.

‘wifereRar’ @l Sfer Serete wied wiefe it

What do you mean by ‘OMR’ ?

‘NTHAR T AT N GHEd § ?

What is the mathematical relationship

between root mean square velocity, average

velocity and most probable velocity ?

T W ga o, sted A SR sty wifdeRdr
T H A RS wEe ¥ 2

CH-03/8 (2) T-539



(v) If an intercept 3a, 65 and 2c¢ is formed on X, Qg —d

Y and Z axis plane of an crystal, find out (g 3T 99)
the Miller indices of that plane. frder .- fopdl WIR Ue B SYR TNl oY oty Sw Wl
Ifc #E fFea 7@ X, Y $iR Z 18l W 3q, 60 Afeerad 200 v=& # IREIHA HINCI TIE T
R 2¢ FTMTUS TAM T A TH TA B AR 3Y, 3k BT T
YEHIE M RIS | 2. Find out the value of log 72 if log 2 = 0.3010 and

(vi) Explain the Tyndall effect. log 3 = 0.4771.
foved §9E F TAET log 72 %1 WM W@ ®itSC 4% 2 = 0.3010 3R log 3 =

0.4771 1

(vii) Find out the unit of rate constant for first

order reaction. 3. Explain the ‘RAM’ and ‘ROM’.

o Fife sifaferen & 9T i &1 T 9 ‘RAM’ 3fR ‘ROM’ %l HHHTET |
HifeT | 4. Write short notes on the following :
Section-B 4x3%=14 (@) Mean free path

(b) Collision frequency or number

frafafea w dfw fewforef fafen -

(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries (&) SirEd g 99
3%, marks. () wug smgfa =1 g
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. What is thermography ? Explain its important

applications.

oI M BT € 7 THER! Hee Ul STANTAT Sy |
. Explain the law of constancy of intrafacial angles.
ST I i fEexa & fom & a9emy |

. Explain why (give reasons) :

(@) Alum is better coagulant than NaCl

(b) Colloidal medicines are more effective
FHAEY F (FRO AWY)

(31) frewdt NaCl =t eT9e o781 Thed §

(F) wierEe qard sifsw guret I ¥

. Discuss the effect of temperature on rate of
reaction and temperature coefficient.
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. Differentiate between molecularity and order of

reaction with suitable example.
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10. (1)

(ii)

(iii)

(iv)

Section—C 2x7=14
(Long Answer Type Questions)

Answer any two questions. You have to delimit
your each answer maximum up to 500 words.

Each question carries 7 marks.
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Add the binary digit (1100), and (1001),.
fgTm @ (1100), 3R (1001), F1 Sifsw
Subtract (11001), from (110001), binary
digits.
g7 =& (110001), # & (11001), = =BT
Multiply binary digit (1101), to (111), binary
digit.
g7 wemw (1101), ¥ (111), § o0 HifS|
Write short notes on Bar coding and OCR.
TUS WR wig o9 HALEHL.W. W Eierw fewh
ferfem |
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11. Discuss the main postulates of molecular kinetic (b) When two reactants having equal

theory of gases. Explain that how this theory prove concentrations are mixed 50% of reaction

the (a) Avogadro rule and (b) Graham’s diffusion completes in 40 minutes and next 50% of the

law. reaction is completed in 80 minutes. Find out

b & oty fagma & g@ SRR w1 9 S the order of reaction.

fag =G fo& a8 fagma fF9 9&R (1) oaErms T AfYHRE FHH W5 § fAeme S aen 40

e @R (F) T=A & foor M &1 w\eT @ § 2 fae & 50% stfufsran w=m= et ¥1 ewwed 50
12. What are collides ? Write the differences between yicerd sifufshan 80 e # qui Bt T sifuferan

Lypophobic and Lypophilic collides. Write FI Hife AT i

importance and applications of collides (any four).
FHIAEE FM B § 2 FARIE I FaEE wawel &
g e fafgu| wiemEel & #wecd AR STar @l
fafem (1 =mw) |

13.(a) Derive the rate constant for second order

reaction when both the reactions have same
initial concentrations.

ST SHI SRR 1 Fsal THEEH 8 a9 fga
Ffe # sfufEn & fou a1 e # ogwE
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